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fft , ifft , fft2 , ifft2 o, 5. o5

>> fx = fft(X) 4,8 Luos

>> fx = fft(x,n) abais N o 4,98 Jos

>> fsx = abs( fft(x) ) «,s b

>> psx = ( fft(x) ) .~ 2 Oy il

>> x = ifft( fx ) a,99 Jod S

>> X =ifft( X, N )  abti N o, Jos S
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>>1=0:1/99:1; .L;, b,

>> y= sin ( 2*¥15 * pi * t) + randn(size(t)); L Jx.
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>> plot(t , Y); ol essr o JuSew Sl Jl5se oo,
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>> fy = abs ( fft(y) );
>>f = linspace(0, 99, length(y) ); 5,599 alal, ;! o
S99 d,y98 cinb 0 ] Dol a5 Cl  wslS 8 pes STe @8lg 40 g el (5,10 peiges

a)b.
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>>plot(f , fy) 140598 b loge

15 Hz
99-15=84 Hz




